100

P 29000 000832 T

1. 38 =9 dg
o chstod

O_] A E7he
2,8504 /kg ~
29509 /kg )
CEHE /e
o 7ok A4 A

S 4 2
REREEZE T
Z B
o2 FAFYct 3¢ =7l 2’700%/kg~

2,600 /kg

27508/kg TEAA ARE RS o4HH
ol= A u} 57}15} zjz% A7 E7t) HIst

Oﬂu}:Lc) e HH e 7 A
SITT(ESFFPY dad A5 Ao
94 7‘_/,: 7 owm 3 g wEY v,
=)

g AAE A7) 7b #ejgr £
oo AF 7 ofHg AL

ﬁfﬂ-f] L § —‘?—ﬁ/‘]ﬂi’ At
A7} 4945 A& Fgd oln]
") /g—a—}tﬂ 2 H3AY A7 =719 26009 /ke7}HA)

\a}é@ Aol

E:3100

2 Em

2 48 =7 MY

Ad E700) s shA e A slo
AHgel AEAke Ag

ZA0 F
Hog ghoA Eé’r
AE (Mg 74
3 g& Oy ¢, MW MAKER o %

Hl& A7t RE sY~697HA] AR 7}~
& Aog Bt 48 FEREE 2EH9
F&o| g ZOE QFHAHFA FA 7HHL
FASEHL A FAY F F£E29 A,
uﬂ/\]:r_q %ak 7L/\‘— g}-/_::_]@-)'

T35 S 13 gAY AT E oy
T FA% AMFHA A, AAY L7} 4¥
FE Eold ZoEg oatgoe] 49 EviE
29009 /kg~30009 /kgZ Aet,

3 =] &Y

1~29 =W £EYY 432 BUED,

11,051 13485

122%

QEJ

VY= 2000, 4



7] ] 206% ZFAF oL}

Hqd F

d

ot Ne)
TE

2

A

=9 g ¥

S

0]

U7}

kel

1.
T

3

YA 229 Z7}

Bl

gt

o

3

~T

Z}A]

=
=

(142057M/T) 9 40%

7k, W7

3y

&

MEzE,

%7

9o 18~28 | ool 18 ~28 |

) =]
s

gzt o

EE ks

Al

FURE

mr | Ble

|

~

3618

8234

(

(E3) H2E 1Y ~ 4¥ =7}

p—

K

o

of
AL

L
I

4

KA

0
=

vy

o]

Einy




